(0 @) (rad)

1072

SICEWATL

Ratio

o p/p.)

=
<

2 3
TPlpoT (PCA t%obeamliné[f)

a(d cot(d))

10

Ratl

1071

193%_ L ......! L L inn
L 4
| SEEEEEEER H N -+
[ P

0.95
107 1

2 3
TPlpoT (PCA t%obeamliné[f)

—=— 2/CMSSW_12_3_X_2022-02-25-2300/src/DQM_V0001_R000000001__Global__mkFitOLD__RECO
—— CMSSW_12_3_X_2022-02-25-2300/src/DQM_V0001_R000000001__Global__mKkFitNEW__RECO

e R R e
I :2 3
TPlpg)T (PCA t%)obeamlin%)o

Ratio

—
IS

)

e

= R s
N

=}

o

=2

[e] T N

G| PR i

..... e

107 1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


